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@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

@ 4a? - 2ab = 2a(2a - b)
®-x*+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x-4)




(x+y—]

=y +2y-1=2-0’-2y+1)=x"-(y-1)°

D(x-y+1)
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3. &+2a-b2+18 9l

> E

> HE D (a+b+1)(a-b+1)

a?+2a-b>+1=(@+2a+1)-0 = (@a+1)?2?-0p =
(a+1+b)(a+1-0b)




4. a=175 b=025 YL U, a% - 6ab + 9> 2] F+-S F51H?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b? = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




5.

a=V2-1Q W, a®+4a+4 9] 3L Fstolet,
>

> He: 34242
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@’ +da+4=(a+2)?
=(V2-1+2)
= (V2+1)?
=2+2V2+1
=3+2V2




